Sections 2.2, 2.3 & 2.4 (Guarantee 2.1) Review

Find the sum.

1. —734+(-247)

2. 855+ (-955)

3. —432+(-428)

4, —247+(-393)

5. —887+(-713)

6. —7.88+(-574)

7. —537+(-917)

8. —327+(-845)

9. —672+(-284)

10. — 996+ (-696)

11. Evauate x+y for x=-56 and y=-12

12. Evauate x+y for x=-26 and y=-6.

13. Evaluate x+y for x=-5and y=-7.

14. Evauate x+y for x=-37 and y=-15
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

Evauate x+y for x=-35 and y=-16.

Evauate x+y for x=-53 and y=-2

Evauate x+y for x=—-64 and y=-3.

Evauate x+y for x=-3 and y=-10.

Evaluate x+ y for x=—61and y=-8.

Evauate x+y for x=-75and y=-09.

Evauate s+t +u+vfors=92t =74 u=-6.7and v =9.2.

Evaluate p+ g+ r +sfor p=-13, =53, r =-14and s =-21.

Evauate w + x + y+ z for w =-8.1, x =4.9, y =-39and z =-6.9.

Evauater + s+t+uforr =54, s=31t =22and u =45.

Evauate s+t +u+vfors=28t=-22 u=83and v =-34.

Evaluate p+ g+ r +sfor p=-39,9q=96,r =—46and s =-7.7.
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27. Evauatet +u+v+wfort =-7.7, u=-8.8, v=-58and w =-1.3.

28. Evauater + s+t +uforr =96, s=-6.2,t =—7.1and u =4.2.

29. BEvauate u+v +w+ x foru=-1.3, v=-59, w =3.8and x =-8.3.

30. BEvaduateb+c+d +eforb =62, ¢=-18,d =2.7and e =-5.6.

Rewrite the difference as a sum.

31. 3-(-4)
32, -7-7
33. —-6-m
34. 2-w

35 -9-3
36. 8-(-H)
37. —4-(-9)
38. -5-t

39. 5-4
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Rewrite the difference as a sum.

40. 6-d

41. Evauate — m—nfor m=-14 and n=32
42. Evauate —s—t for s=36and t=-13
43. Evaluate —g—hfor g=18and h=-33
44. Evauate —a—bfora=-52and b=37.
45. Evauate —w— x for w=-46 and x=17.
46. Evauate —b-cfor b=—44 and c=12
47. Evauate —v—w for v=27 and w=—29,
48. Evauate —u—v for u=3land v=-35
49. Evaluate — x—y for x=50and y=—49.
50. Evauate —b-cfor b=24 and c=-15
Evaluate.

51. ~30-2+ (-5) [A] 10 [B] 12 [C] -10

[D] —12
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Evaluate.

52.

53.

55.

56.

57.

58.

59.

60.

—24-6 + (-6)

20-(-8) + (-4)

49.4 + (-7)

4.7+ (-2)

-12-3+ (-3)

326+ (-4)

4.7+ (-2)

15-2 + (-5)

—42-(-5)+ 6

A -7

[A] 40

A -2

[A] 9

A -2

[A] 48

[A] 19

[A] 6

[A] -35

[B] —

[B] —

[B] 28

[B] 14

[B] 12

[B] —-

[B] -19

[B] -6

[B] T

[C] —24

[C] —40

[C] —28

[C] -9

[C] —12

e -2

[C] 14

[C] 8

[C] 35

[D] 24

[D] 14
D] -8

o] -4



